Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Note: Answer anyIVE full questions, choosing one full questig:i*ﬁfp)m each module.

Module-1

What is surveymg” Exp[am the basic principles of surveymg 7 (06 Marks)
Distinguish between: 1) Plane surveying and Geodetic survey. i) Plan and Map. (04 Marks)
A chain 30 meter length wa,s found to be 12cm too long: aftér chaining distance of 1750m. It
was found to be 23cm too mng at the end of days:. WOrk after chaining a total distance of
3600m. Find the true distance. if the chain was corr%t before commencement of work.

:_‘.}« (06 Marks)
Give the broad classification of surveymg (06 Marks)
Explain the basic principle of EDM de v;ces.’,\\ (02 Marks)

A steel tape was exactly 30m long at 18°C, when supported throughout its length under a
pull of 8N. A line was measured with-a tcipe under a pull of 12N and found to be 1602m.
The mean temperature during measurement was, 26°C. Assuming the tape to be supported at
every 30m. Calculate the true length of the ling glven the cross section area of the tape is
0.04cm’. The weight of 1Cu-cmiof tape is 0.072N . The co-efficient of thermal expansion is
0.000012 per 1°C and modules of elastlclty 2. 1><1;0 N/em?®. (08 Marks)

y Module-2 3

Explain with a neat sketch- the construction and workmg of an optlcal square. (06 Marks)
Distinguish between the following :

i) Magnetic meridian-and True meridian

ii) Dip and Dev!matlon

iii) Isogonics Jmes and Agonic lines

iv) Whole cyd ‘bearing and reduced bearing

V) Dependem and Independent co-ordinates o (10 Marks)

OR

Explairi the following terms : o
i) Base lin¢’ i) Random line  iii) Check line  iv) True line v) Offset. (/0
D1fierer}tlate prismatic compass and surveyor’s compass. (08 Marks)
Define a term well condition triangle. Why it is necessary to have well conditioned riangle

ina. cham survey? { 03 Marks)
i Module-3 o
Following are the bearings of the sides of a closed traverse.
Side AB BC CD DE EA

Fore bearing | 60°30' | 122°0' | 46°0' | 205°30’ | 300°0’
Draw a neat sketch of the traverse workout the interior angles of the traverse and apply the
check. (06 Marks)
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y Wnat is closing error on a traverse? Explain how the closing error in comoa<s survey is

'"adjusted by Bowditch’s rule.

Q). (04 Marks)
The” followmg bearings were observed with prismatic compass.
» Line | Fore bearing | Back bearing
AB 74°00' 254°00'
BC 91°00’ 271°00'
CD 166°00' 343°00’
DE 177°00' 0°00’
u EA 189°00' 9°00’ s
Where do you SUspeut\; local attraction? Find the corrected bear" 10‘? ‘ (06 Marks)
N OR
What is local attraction? ] ~o»\>\ it is detected and ellmmated7 (06 Marks)
The magnetic bearing of a'line AB is S38°30' W calculatc the true bearing, if,
i) The magnetic declination is 4°30" west N
ii) The magnetic declmatlon is 3°30'E (04 Marks)

In the following traverse ABCDEAV the length a’nd" bearmg of EA is omitted, calculated the

length and bearing of line EA. : (06 Marks)
Line | Lenvth (m) Bearing
AB {204.00 87°30'
BC 226.00 20°20'
CD {18700 280°0'
DE-Js 192,007 | 210°3'
BA L7 ?
*“Module-4
Define the following terms ;{ ¢\ T
i) Bench mark ii) BacK sxghf iii) foresight  iv) L'i‘he\of collimation. (04 Marks)
Explain the temporary aa]ustment of Dumpy level. (05 Marks)

The following consecutive readings were taken with a' *leve} and 3m leveling staff on
continuous slopmg gromd @ a common interval of 20m. Tr}stmment was shifted after 4"
and 8" reading

0.602, 1.234, 1: 86@;;2 574. 0.238, 0.914, 1.936, 2.872, 0. 568 1 824 2.722. The reduced
level of the fifst point was 192.122m. Rule out a page of a level- ﬁﬂ*ld book and enter the
above readmgs.xalculate the reduced level of the points by using H. I method and also the

gradlent oft tht, ime joining the first and lost point. (07 Marks)
OR A
Expialn the process of Reciprocal leveling with neat sketch and state its advantag,es
/(68 Marks)

3 W pomts A and B are 1530m apart across a wide river. The followmg rec1procal le\ie‘s are
‘;taken with one level.

Staff Reading on
Level @ A B
A 2.165m | 3.810m
B 0.910m | 2.355m
The error in the collimation adjustments of the level is -0.004m in 100m. calculate the true
difference of level between A and B and the correction for refraction (08 Marks)
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\ Module-5
What . ib cmtour” What are the uses of a contour map? (04 Marks)
What are rharacterlstlcs of contour lines? (04 Marks)
With neat sketches describe the methods of solving three pomt P! oblems by Bessels
Graphical met hod AN (08 Marks)

OR

Define the followmg terms (10 Marks)
Contour interval \
Horizontal equivalent
Contour gradient

Vertical clift

(06 Marks)




